#### Kansas Corporation Commission Oil & Gas Conservation Division

Form CDP-5 August 2008 Form must be Typed

### **EXPLORATION & PRODUCTION WASTE TRANSFER**

Operator Name: Lamamco Drilling Company	License Number: 34103
Operator Address: 4444 East 146th Street North - Skiatook, Ok	< 74070
Contact Person: Thomas H. Oast	Phone Number: ( 620 ) 725 - 3200
Permit Number (API No. if applicable): 15-019-26,948 & 0 0	Lease Name: Oakridge
Source of Waste:	Well Number: LAM - 4
□ Dike □ Emergency Pit □ Settling Pit □ Workover Pit □ Drilling Pit □ Burn Pit □ Haul-off Pit □ Steel Pit □ Spill / Escape	Source Location (QQQQ): SE - SE - NW -  Sec. 14 Twp. 33 R. 12 Fast West  2,970 Feet from North / South Line of Section  2,970 Feet from Feet from East / West Line of Section  Chautauqua County
Type of waste to be disposed:	Other:
Amount of waste: 16 No. of loads 1530 Barrels	YDS
Destination of waste: Reserve Pit Haul Off Pit Disposal Well Leas	e Road Dike / Berm Other: Off site
If waste is transferred to another reserve pit, is the lease active? Yes No	
Location of waste disposal:	Date of Waste Transfer: January 3 & 4, 2009
Operator Name:	License No.:
Lease Name:	Sec Twp R
Docket No./API No.:	County:
Comments:	
Hauled to Pawhuska, OK by Turner Tank Trucks,	, Inc. (see enclosed invoices)
	KANSAS CORPORATION COMMISSION
	JUL 2 2 2009
•	RECEIVED
	-
The undersigned herby certifies that (6) she is AREA MANAGE	= 0 ·
10	prized agent, that all information shown hereon is true
and correct to the best of his / her knowledge and belief.	~ M Oaf
Subscribed and sworn to before me on this 21st day of	Agent Signature 2009
My Commission Expires: 2/24/2013	Notary Public  NOTARY PUBLIC, State of Kansas
Mail to: KCC - Conservation Division, 130 S. Market - R	TERESAL HARRISON

## TURNER TANK TRUCKS, INC.

P.O. BOX 53 DRUMRIGHT, OK 74030 918-371-2794



### Invoice

Date	invoice#		
1/5/2009	7102		

Bill To LAMAMCO P.O. BOX 550 SKIATOOK, OK. 74070 Lease Code: 35400 d

Exp. Code:\_\_\_

Remarks\_

 $OK'd_{-}$ 

DARRIDSE Job Date Lease Name **Due Date** Ticket # 12/29/2008 NEW WELL AT O... SEE BELOW 1/19/2009

Description Hours/ Bbls Rate **Amount** TICKET 14552 1/3/08 TRANSPORT V 109 10 95.00 950.00 Disposal Charge-V105 260 0.75 195.00 WENT TO LOCATION LOADED WATER OUT OF WORKING PIT AND HAUL TO PAWHUSKA DISPOSAL. TICKET 13131 1/3/09 TRANSPORT- V-107 10 95.00 950.00 DISPOSAL CHARGE 0.75 195.00 RECEIVED WENT TO LOCATION HAUL WATER TO DISPOSAL AT PAWHUSKA AND LIFTT. TICKET harge-Ville JAN 09 2009<sub>9.5</sub> Transport-V ... 95.00 902:50 Venddr Disposal Charge-V105 Division 0.75 165.00 WENT TO LOCATION VAC WATER FROM PIT HAUL TO atagory DISPOSAL AT HALLETT AND PAWHUSKA TICKET 13747 1/4/09 Transport-V105 6 95.00 570.00 Disposal Charge-V105 50 0.75 37.50 WENT TO LOCATION VAC PIT HAUL TO OSAGE DISPOSAL. TICKET 14553 1/4/09 TRANSPORT V 109 95.00 570.00 KANSAS CORPORATION COMMISSIÓN

FINANCE CHARGE OF 1.5% PAST DUE BALANCE 18% PER ANNUM

**Total** 

# TRUCKS, INC.

# **Invoice**

£ 74030

Date	Invoice #			
1/5/2009	7102			

BUTO AMAMCO & BOX 550 CATOOK, OK. 74070

PAGE

Job Date Lease Name Ticket # Due Date

12/29/2008 NEW WELL AT O... SEE BELOW 1/19/2009

Hours/ Bbls Rate Amount

X1, .	12/29/2008	NEW WELL A	1 O SEE BELOW	1/19/2009
Description	Hou	rs/ Bbis	Rate	Amount
nosai Chargo-V105		130	0.75	97.50
NT TO LOCATION LOADED WATER OUT OF PIT H PAWHUSKA DISPOSAL.	AUL			
KET 13132 1/4/09				
ANSPORT- V-107		6	95.00	570.00
osal Charge-V105		140	0.75	105.00
NT TO LOCATION HAULED PIT TO DISPOSAL.				,
KET 13247 12/26/08				
NSPORT V 109	ľ	10	95.00	950.00
osal Charge-V105		260	0.75	195.00
IT TO LOCATION LOADED WATER OUT OF WORK AND HAULED TO TONY'S DISPOSAL.	KING			
•				
•			KANS	AS CORPORATION COMMISS
				JUL 2 2 2009
			i i i	RECEIVED

FINANCE CHARGE OF 1.5% PAST DUE BALANCE 18% PER ANNUM

Total

\$6,452.50

# TURNER TANK TRUCKS, INC.

P.O. BOX 53 DRUMRIGHT, OK 74030 918-371-2794

# Invoice

Date	Invoice#		
1/5/2009	7103		

**Bill To** LAMAMCO P.O. BOX 550 SKIATOOK, OK. 74070

	100000	Lease	<del></del>	Ticket #	
	1/3/2009	OKE	RIGE	SEE BELO	W 1/19/2009
Description	Ho	urs/ Bbls	1	Rate	Amount
FICKET 12755 1/3/09 Bobtail-V126		8.	5	75.00	637.50
risposal Charge		14	0	0.75	105.00
VENT TO LOCATION HAUL WATER OUT OF PITS AND OADED TRANSPORTS.	D				105.00
ICKET 12756 1/4/09 obtail-V126		4	5	75.00	375.00
isposal Charge		. 70		0.75	52.50
ENT TO LOCATION LOADED WATER AND HAULED ISPOSAL.	то				
Lease Code: 354000	ECEI	VED			
	AN 09	2009			
Exp. Code: 426 Venc			+		
Remarksw	!				
OK'd for OARY				K	ANSAS CORPORATION COMM
-					JUL 2 2 2009
					RECEIVE
IANCE CHARGE OF 1.5% PAST DUE BALANCE 18% P	ED ANIAUTA	1	Total		

\$1,170.00